Flyingbear-P905 Installation Manual

1.Frame installation - - - ——

-1

2.Z-axis installation---------- —mmmmm———— —

3.Hot-bed installation- - - —

-5

4 .Drive shaft installation-- -

5.Y axis motor installation- -- -

6.ldler wheel installation-- -

-7

S——

7.X-axis installation - —

8.Extruder installtion- — -

9.Y shaft and Z shaft limit switch installation-

10.Motherboard and LCD installation-------

11.Power supply installation- --- --

N )

12.Synchronous belt installation -- -

13.Setting up slicing software- --- ---

14.Setting auto leveling sensor----------

15.First print model-------------- -

16.Wring diagram mmmmmmann --




1. Frame installation

Step 1

Step 2




2. Z axis installation

Step 1

10mm optical axis

F\ 4 3

T

Z axis fixing block

M4 headless screw T8 screw rod

10mm optical axis M3*8 bolts

M4*12 bolts

Screw connecting plate

s
s

_—

Liner bearing

M4 nut

Screw nut



2. Z axis installation

Step 2

M4*8 bolts

Coupling

M3*8 bolts

M3*14 bolts
M3 nut




2. Z axis installation

If you are dual Z axis version, you can refer to the installation method




3. Hot bed installation

Step 1




3. Hot bed installation

If you are dual Z axis version, you can refer to the installation method

=/




4. Drive shaft installation

Step 1

6mm optical axis

R

[

Bearing block

Beargings

6*9*2 brass spacer
2GT16 pulley

6mm Synchronous belt

2GT16 pul ley

7

e

Bearing block

2GT pul ley

6*9*2 brass spacer

Bear ings




4. Drive shaft installation

Step 2

M4%8 bolt




5. Y-axis motor installation

Step 1

=S eeeeee————————

T

M4 nut Extruder motor fixing plate

motor fixing plate
M4*8bolts




5. Y-axis motor installation

Step 2

10



6. Idler wheel installation

Step 1

Idler wheel mounting block
M3*25bolts

M3*Sbolts

M3 locknut




7. X-axis installation

Step 1

8mm optical axis
Length 342mm or 364 mm

M3*5bolts

12



7. X-axis installation

Step 2

M3 nut
M3*25 bolts

M3*5 bolts

8mm optical axis
Length 342mm or 364 mm

M3*5bolts



7. X-axis installation

Step 3

3010 fan

M3*14 bolts~

M2*12 bolts

limit switch /M3*8 bolts
/

M3*14 bolts
M3 nut

M3*14bolts

Automatic leveling switch

Manual-leveling does not require
the installation of this part "

M3*25 bolts” M3 nut” M2 nu

14



7. X-axis installation

Step 4

8mm optical axis
Length 275mm or 335 mm

M3*5bolts

15



8. Extruder installation

Step 1

42-47 motor

Extruder motor fixing plate



8. Extruder installation

If you are dual Extruder version, you can refer to the installation method




9. Y shaft and Z shaft limit switch installation

Step 1
M3*8bolts
Limit switch fixing plate
M2*12bolts
Limit switch
M2*12 bolts e !
Limit switch \
M2 nut

Auto-leveling does not require
the installation of this part



10. Motherboard and LCD installation

Step 1
LCD2004
M3 nut
Isolation column7*3*5

LCD shell

M3*14bolts

4010 fan
M3*14bolts




10. Motherboard and LCD installation

Step 2

\M3nut ‘M3 nut

20



11.Power supply installation

Step 1

M

M3 nut




12.Synchronous belt installation

Step 1

22



13. Setting up slicing software

3D printers have very many slicing software, such as Cura, simplify3D, and so on, but

we only introduce how to use repetier-host.

Software download address: https://www.repetier.com

When the software installation is complete, click "printer settings",and then follow the

pictures in turn to operate

(¥ Repetier-Host V1.6.2

File View | Config | Printer Server Tools Help

o E Language v
Cannais 10 ?nnter. S.e.ttn.'n?s” - _— Cltr.I+P .
— Firmware EEPROM ( -I.;..;_,-.. ation  Alt+ [

!;e" Tenﬁ Units of imported Objects »
| Preferences Alt+P I

ROPF+Q

Printer Settings

Printer: FlyingBear

"

Connection Printer Extruder Printer Shaps Scripts Advanced

Connecter: Serial Connection
Port: COMG
Baud Rate: 250000

Transfer Protecol: [putadatect

Reset on Connect DTR low->high->low

Reset on Emergency |Send emergency command and recenmect
Receive Cache Size: |127

Comnunication Timeout:) []
[[Jvse Ping-Pong Communication (Send only after ok)

The printer settings always correspond to the selected printer at the top. They

Printer Settings
Printer: FlyingBear 8
Connection Printer Extruder Printer Shape Scripts Advanced

Travel Feed Rate: 4800 [nn/nin]

I-Axis Feed Rate: 100 [an/nin]

Marual Extrus Speed: 2 20 [nn/s]

Narual Retraction Speed: 30 [an/s
Default Extruder Temperature: 200 e
Default Heated Bed Temperature: |55

[ Check Extruder & Bed Temperaturs

[[] Remove temperature requests from Log

Check every 3 seconds.

Park Position: X: g ¥: lo Z ain: |0 [ma]
[] Send ET& to printer display [1Go to Park Position after Job/Kill
[¥] Disable Extruder after Job/Kill [#] Disable Heated Bed after Job/Eill
[¥] Disable Motors after Job/Eill [ Printer has SD card
Add to comp, Printing Time 8 [%1
Invert Direction in Controls for [] 2-axis ] v-axis [ z-Axis

oK apply Cancel

Object Placement g

o

Port :According to the ports in Device
manager (COM&LPT) to choose,
(Notice: Each computer is
different,my computer is COMS.)
Baud Rate: fillin “250000"

Other parameters remain the same.

Reference temperature:
Print PLA
Extruder temperature: 190°C around

Bed temperature: 40°C around
Print ABS
Extruder temperature: 230°C around

Bed temperature: 80~100°C around

Other parameters remain the same.



13. Setting up slicing software

Printer Settings

Printer: |default ]
Connection Printer Extruder Printer Shape Scripts Advanced
Humber of Extruder: 2 =
Max. Extruder Temperature: 5280
Hax. Bed Temperature: 5120
Max. Volume per second 12 [am* /2]
[ Printer has a Hixing Extrudé; {one nozzle for all colors)
Extruder 1
Name: Iei
Diameter: D 4 | Ianl Temperature Offset: 0 | [*c]
cror:
Offset X: _.0 Offset ¥: 0 ] [nn]
Extruder 2
Hame: el
Diameter: [0. 4 . [am] Temperature Offset: ] el
Offset X: o ] Offset ¥: 0 i [nn]

spply Cancel

Printer Settings

Printer: [default

=1

Cormection Printer Extruder Printer Shape Scripts Advanced

Printer Type: Classic Printer 2l

Home X: Min ~| Home Y: Hin ~| Home Z: Hin b
X Min [0 | xmax [350 Bed Left: [0

Y Hin [0 Y Max  [300 | Bed Front: |0

Print Area Width: [350 an

Print Area Depth: .3007“ nn

Print Area Height: :290 nn

The min and max values define the possible range of extruder coordinates.
These coordinates can be negative and outside the print bed. Bed
left/front define the coordinates where the printbed itself starts. By
changing the min/max values you can even move the ¢rigin in the center of
the print bed, if supported by firmware.

x

>

[

I

0K Apply Cancel

24

For double nozzles, please fill in 2
Number of Extruder:1/2

Name: P9.2-0.4
Diameter: default it is 0.4,Please fill
in it according to your nozzle's

diameter.

Other parameters remain the same.

Printer: FlyingbearP905
X Max: 220 (Big size 280)

Y Max: 220
Print Area Width: 220

Print Area Depth:220

Print Area Height : 200 (Notice:The
actual size is 210 ,but due to each
customer’s installation is different,it
is possible to cause the size smaller
than 210 .So it’s more safe to fill in
200.)

Other parameters remain the same.
Printer: FlyingbearP905 Plus

X Max: 280

Y Max: 242
Print Area Width: 280

Print Area Depth: 242
Print Area Height : 350



14. Setting auto leveling sensor

Open the repetier-host and connect to the printer.select “manual controltab and

you should see’G-Code”. Write in this field “G28”and press send button,Then send

the G1 Z0, the screen will show that the Z axis is "Z=0"_Now you can operate the
printer by LCD screen , select "prepare/move the axis / 0.1 mm/move z" according

to the menu . Move the Z axis, until the distance between nozzle and hot bed reaches
the most suitable distance.(the best distance between nozzle and hot bed is probably
a piece of A4 paper). Then record the Z axis numerical that LCD displays (This
numerical value should be a negative number, let's assume this value is -1.5).And then

we send the G code "M851 Z - 1.5", finally send G code "M500" to save your changes

e =] ®

% e @

Printer Settings Easy Mode Emergency Stop

Object Placement Slicer Print Preview [Nanual Control| S Card

G-Code: | |

[ — —
Caa
0@90990663

R D

Before slicing, add the auto Ieveling "G29" code

(0 Repetier-Host V1.6.2 = =] x
File View Config Printer Server Tools Help
5 ey
0O .. ¢ o & ()
Connect Load Toggle Log Printer Settings Easy Mode Emergency Stop
3D View Temperature Curve Cura Object Placement Print Preview Manual Contrel 3D Card
CuraEngine Settings Close . 1
Print Filament L2 =il
Default ~ il Save M Save as ... B Delete
Slicer: CuraEngine v O Manager
s Import sl Export
- . ~
Speed and Quality Structures Extrusion |G-Codes| Advanced [_® Configuration |
WF_ ; Default start code ~ | Print Settings: 2
|SRe L laae . G28 ; Hon truder . . .
|Before Extruder Switch Ez5: mui:elzznl‘:re ] Print Configuration: efault ~;
|After Extruder Switch TR T g
G1 215 F{2_TRAVEL_SPEED} Adhesion: Type: S %
M107 ; Turn off fan
G90 ; Absolute positioning Quality: 0.2 am ~
M82 ; Extruder in absolute mode -
{IF BED}M15S0 S{BED} Support Type: Touching Bed b
Create Default - 2
; Activate all used extruder
You can add dynamic values, {IF_EXTO}M104 TO S{TEMPO}
;ﬁ;igi‘ replaced during {IF_EXT1)}M104 T1 S{TEMP1} oo
G52 E0 ; Reset extruder position < Stoy Pask
Print Speed: 45 nm/s
Outer Perineter Speed: 38 an/s v
Shov in Leg: @Commands OInfos OWarnings OFErrors @ACK OQlute Seroll @ Clear Log  #Copy
BEEESEE M ENN OpenGL version:4.3.0 - Build 20.19.15.4549 ~
pEESSRL R EL A OpenGL extensions:GL_EXT blend minmax GL_EXT_blend subtract GL_EXT blend color GL_EXT abgr GL_EXT_texture3D GL_EXT clip_volume_hint GL
Disconnected: default - Idle

g

25



15. First print model

There are two ways to print: use the SD card to print and use the computer to print.

It is recommended to use the SD card to print. The computer will be standby or have other

abnormal situation to interrupt the printing process when use the computer to print.

Attention:The hot bed needs to paste the masking tape or painted with the self-adhesive

before printing.

Introduction of using SD card to print

(I Prine-Rite ColiDe Repetier-Hont V155 - Text Moded

Fie View Config Prater Server Took el
O.B.».m ¢
Duconmect  Losd  StartPrant 0 Pee Toggle Log

']

Tiew Teaparatiaw Curve

SAEROOF4Q

(W Repetier-Host V1.6.2

File View Config Printer Server Tooks  Help

0 .B. ¢

Connect  Load  Toggle Log

of

Printer Semngs Easy Mode ColiDo Emergency Stop

——

Object Flocemant fllcer Frint Previes Bamal Comtrel 20 Card |

HOLRah |

= o x

® @ W

Printer Settings Easy Mode Emergency Stop

30 View Temperatiure Curve

1

object Placemsnt Slicer Print Previes Hanual Contrel SO Card

P> Slice with CuraEngine

Kifl Slicing

Slicer: |Cugalm_1m

ot | S Nanager

NAARO PP 4Q

2|[ 8 Contiguratio |

Print Settings-
Frint Condiguration: efault -
Adhesion Typs: L i
Quality: 0.2 am o
Suppart Type: Teuching Fed -~
Speed:
Slow Fast
[ Repetier-Host V1.6.2
File View Config Printer Server Took Help
(Dnonecl i Load i Tug_;l’;Lclg
30 Wiow Temperaturs Curve Cura
CuraEngine Settings
| Frint  Filament
Dafault - = Save
Spead and Quality Structures Extrusion G-Codes Advanced
Speed
Slow Fast
Print: [0 | I [am/s]
Traval: 180 | 180 [me/]
First Layer: 2o | 20 [mn/s]
Cuter Pariretar |30 | 0 [mn/5]
Inner Ferineter |40 ] B-n [mn/s]
Infill: [a0” | e [an/s]
Skin Infill: 130 | o0 [mni2d
Quality
it Qulity: [iiz an > |
|:_| Salected Quality Setting
T A Fane: _0. 2
Layer Haight: [0z [xa]
¥ | Firet Layer Height: E_o.a Iaa]
° & First Layer Extrusion ¥idthe 100 Iwl

26

Click the botton, load the folder

“Test Model” in “FlyingBear-tornado Printer”

Set parameters according to pictures



15. First print model

(@ Repetier-Host V1.6.2
File View Config Printer Server Took Help

[ Repotier-Host V1,62 - o
o 5 @ = , Flle  View Conbg  Printer  Server Took Help
Connect  Load Toggle Log o @ r
3D View Temperaturs Curve Cura Comnedt  Load  Togghe Log Priniter Settings  Eavy Mode  Lines.
CuraEngine Settings :E:“"" Tanparatird Cuve Curs -?gu Flacamant Tlicer Print Froviev Wanual Contrel SO Card
Print  Pilament + » Slice with CuraEngine WGl Stiging
Default > &l Save q‘
Q Slicer: Curalngine - Elaage
Spaed and Quality Structwres Extrugion O-Csdes Advanced Q O Centlpmation
Speed 1 Primt Sottings:
Sl _ Fant (4 Frint Conthmarsbas sfault
Fehort B [N | [aa/fe] i Adbason Tyve: [ Bl
Travel: 150 150 [mafe] ! J alitn T ET]
First Layer: [0 [0 [ans] | Suppirt Type: Heom
Outer Ferisster |30 | |e [an/a] 7
Inner Perineter 0 B0 [ma/z] + Zpoud; ;
| | | 1
Infill: a0 100 | [mn/s] 1 S 45 s
r 4 = : Outer Perisster Speed: 5 ande
Skin Infill: £ 6o [ma/2] Infi1l Speed: 1 anit
: Infill Deneity | = - o
Quality 6 E
Pefault Quslity: I 0.2 = I 2] Bable Cocling
|_[ Selected Quality Setting 8 " Pt it
i P e o2 m
Layer Height: 0.2 an]
¥ | First Layer Height: 0.8 ] fand
o 8 First Layer Extrusion Videhg [100 ] 0]
(@) Print-Rite ColiDo Repetier-Host V1.5.5 - Test Modei - a *

Fite WView Config Printer Server Tools Heip

O . B.».m ¢ ® @ -

Distonnect  Load  StartPrint 0 Prot Togole Log Drintet Settings Easy Mode ColiDo Emergency Stop
[30 ¥ier Tenparaturs Curve Ohject Placonsmt Slices [Print Previer | Ramal Control 50 Card
fe] B Print ® Edit G-Coda
' B Save 1o File |=  saveforspprin
10
iing Dkl
Estimated Printing Time: em:11s ) N ) .
Layer Count 19 After slice is done,Click “Save to File” to
Total Lines: 1322
Filamaent needad: 123 mm T
save the file in SD card.
Visualization

[ Show Travel Moves
® Show complete Code
) Show Single Layer
() Show Layer Range

inlog: @Comnands Olnfés OVamings OFrrers OAK  Outo Screll  @Cleer Log  BiCopy
SINETTN <s!icir> Done. Frocess took © minutes and 2.472 seconds -
«Slicde> Pilasent required: 123.4mm (0.3em3)

onnected: Hpnglea  Extruder 30.3/205°C Bed: 30.2/60°C Ietle

€Ty

[«

After insert the SD card into LCD,choose “Prepare”----"Auto home”

Choose “Prepare”---"Preheat PLA”----"Preheat PLA”

27



16. Flyingbear- P905 wiring diagram

(dual extruder)

401 0- an X-motor Y-motor

(dual extruder)
Nozzle heating 2

X-Limit switch

Nozzle heating 1
@

1
|/

Cj+ 03H - [+ 130 - |

1 e
| MKS Gen L V1.0%

-Limit switch

Auto leveling

Nozzle Bed Nozzle
thermistor 2 thermistor thermistor 1 e
(dual extruder) ,{'y

Extruder 2

Extruder 1

4010-Fan

28



